m R 4 RN (AR B EURAIYE D) P RAE L
1. % a :ésin2°+§cos2°, b=1-2sin?13°, ¢ :g , W a, b, ¢ BIRAKR

& . (IDEIRHES)

2. 45 f(x)=cosx—sinx ££[0, al ;2 ek %, W a{yHEK{ER2

3. Yyt F Al Dm Y =sinjX

ARAMES:  @EEY = tan X P Uk
R @K%y = COSZX+%|E}’~J}%§H%%; @@i&yzsin(x_i_%)%ﬁ%@ﬁ.

Forb IR B R 5
4. KT T (x)=sin| x| +|sin x| H FAALik:

D £(x) RABE K @ﬂﬂﬁ&@(g,n>$ﬁﬁ%
@ F() 1L [—m, m] H 4 ANE @ F(x) IR A 2

Hrh i B g5 2
5. DAL T (X) =sin? x++/3sin xcos X.

(1) sk T(X) 19/ NER
u%%H@EBﬁkgmﬂi%%kﬁﬁg,*m%%m@

T T

6. AR E T (X) =2$in2(E+XJ—\/§COSZX, X€|:—,—:| .
4 4 2
CTD 3R T (X) I AR A /M s

T

(H)%K%ﬁHU%NRZEX%EQ}LE&j,ﬁiﬁm%ﬁﬁﬁﬁ



